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Chapter 4.5 Dilations
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Chapter 4.6 Similarity and Transformations
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Chapter 8.1 Similar Polygons
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Chapter 8.2  AA Similarity
Show how these triangles are similar and write a similarity statement.
[image: ]




[image: ]



Chapter 8.3 SSS and SAS Similarity
Show how these triangles are similar and write a similarity statement.
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Chapter 8.4 Proportionality Theorems (Parallel lines in similar figures, Angle Bisector Theorem) 
Show how AB is II to CD.
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Show how AB is II to CD.
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Find the length of YB
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Find the length of AB.
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Find the length of AB.
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Find the length of p.
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3. Describe a similarity transformation
that maps quadrilateral STUV to

‘quadiilteral DEFG.
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1. Inthe diagram, AABE ~ ADBC.

Find the value of .
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2. In the diagram, ANOW ~ APQR.
dentiy thetype of segment shown
nblue and find the value of x.
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3. The two rectangles are similar.
“The area of the smalle rectangle
is75in.2 Find the area of the
larger rectangle.
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Find the value of x that makes AABC ~ ADEF
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1. Find the scale factor of the dilation.
“Then tell whether it i a reduction or

an enlergement.
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2. Graph & 06F with vrtces D2, ),
0.2 and 8 2 o s image
e Baton xed 10,0
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3. Aphotographer enlarges a
4inch X 5 inch phatoto an
8inch X 10inch photo. What s
the scale factorof the dilation? 2
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1. B has endpoints A(~3, 6 and
516, 0). Find the endpoints of
its image after the similaity
transformtion.

‘Translation: (x, y) - (x y = 6)
Dilation: cente (0, 0) and k =
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2. Graph 2\ POR with vertices P(3,2),
Q(4,0), and A(, 0) and s image.
after the similarity ransformation.
Dilation: center (0, 0) and.

Dilation: center (6, ) and.





